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sin 2 =

. T . 3T T 3T
= sin? (n — —) + sin? (n — —) + cos? (Zn + —)+ cos? =
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. 2 T . 2 31T 2 w 2 3T
=sm- —+sm-—+cos®—+ cos® —
18 8 18 8
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4.ii)

4.iii)

. 2 T . 2 51 . 2 8 . 2 ot
sin® —+sin® —+sin® —+sin® —
7 14 7 14

sin? §+Sin2 (g — g) +sin? (m +§)+ sinz(g + =)

. 2 T . 2 (T T . 2 T . 2T T
—+ - — )+ — )+ -4+ =
sin® —+sin (2 7) sin (TL’+7) sin (2+ 7)

. T T . T T
sin? —+ cos?—+ sin? —+ cos? -
7 7 7 7
1+1=2Ans.
2 T 2 191 2 3171 2 371
c0S%? — + cos? == + cos? ===+ cos? 2=
24 24 24 24

T 51 3T 51 3T
cos? — + cos? (n — —)+ cos? (— — —)+ cos? (— +
24 24 2

24 2

2 Vs 2 51 . D 51 . 2 Vs
cos® —+cosSs“—+Sin°—+sin® —
24 24 24 24

=1+4+1=2Ans.
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4.vii) cos? S cos? =+ cos? —+ cos? "

2 T 2 3T 2 3T 2 T
= COoS g'l'COS ?'l'COS 77:_? + COS T[_g

T 371 31T T
= c0S% =+ cos? =+ cos? =+ cos? =
8 8 8
, T 5 31T
= 2| cos®— +cos® —
8 8
, T (T T
=2{cos —+ cos (———)}
8 2 8

= 2(coszg+ sin? g)
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4.viii) sin? o sin? —+ sin? —+ sin? —

. T . T . T .
= sin? o sin? (n — Z)+ sin? (n — Z) +sin? (2

— sin? =+ sin%=+sin?= +sin? -
4 4 4 4

4 (sin45°)>2
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=4 — = 2 Ans.
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